JOURNAL OF NUMERICAL ANALYSIS AND APPROXIMATION THEORY

J. Numer. Anal. Approx. Theory, vol. 51 (2022) no. 2, pp. 144-154, doi.org/10.33993/jnaat512-1284 ictp.acad.ro/jnaat

ON THE SEMI-LOCAL CONVERGENCE OF A SIXTH ORDER METHOD IN BANACH SPACE

IOANNIS K. ARGYROS^{*}, JINNY ANN JOHN[†] and JAYAKUMAR JAYARAMAN[†]

Abstract. High convergence order methods are important in computational mathematics, since they generate sequences converging to a solution of a non-linear equation. The derivation of the order requires Taylor series expansions and the existence of derivatives not appearing on the method. Therefore, these results cannot assure the convergence of the method in those cases when such high order derivatives do not exist. But, the method may converge. In this article, a process is introduced by which the semi-local convergence analysis of a sixth order method is obtained using only information from the operators on the method. Numerical examples are included to complement the theory.

MSC. 37N30, 47J25, 49M15, 65H10, 65J15. Keywords. Non-linear equations, Fréchet derivative, Semi-Local convergence, Banach Space.

1. INTRODUCTION

Finding a locally unique solution of the system of non-linear equations of the form

(1) G(x) = 0

is a major problem with extensive applications in the field of mathematical and engineering sciences. Presently, there are numerous efficient methods to solve (1) [1, 8-10, 13, 14, 16-18]. But, in most of the cases non-linear equations and systems arising from mathematical modeling of physical systems does not have exact solutions. Because of this problem, scientists and researchers have focused on proposing iterative methods for solving non-linear systems. Newton's method is a popular iterative process for dealing with non-linear equations. Many novel, higher-order iterative strategies for dealing with nonlinear equations have been discovered and are currently being used in recent years [1, 3, 4, 7-10, 13-18]. However, the theorems on convergence of these schemes in most of these publications are derived by applying high

^{*}Department of Computing and Mathematical Sciences, Cameron University, Lawton, 73505, OK, USA, e-mail: iargyros@cameron.edu.

[†]Department of Mathematics, Puducherry Technological University, Pondicherry, India 605014, e-mail: jinny3@pec.edu, jjayakumar@ptuniv.edu.in.

order derivatives. Furthermore, no results are discussed regarding the error distances, radii of convergence or the region in which the solution is unique.

The study of local and semi-local analysis of an iterative formula allows to estimate the convergence balls, bounds on error and uniqueness region for a solution. The results of local and semi-local convergence of efficient iterative procedures have been deduced in [2, 3, 5-7, 11]. In these works, important results containing convergence radii, measurements on error estimates and expanded utility of these iterative approaches have been given. Outcomes of these type of analysis are valuable because they illustrate the complexity of selecting initial points.

In this article, we develop semi-local convergence theorem for a method with sixth order convergence proposed in [1]. The method can be stated as

(2)

$$y_n = x_n - G'(x_n)^{-1}G(x_n)$$

$$z_n = y_n - G'(y_n)^{-1}G(y_n)$$

$$x_{n+1} = z_n - G'(y_n)^{-1}G(z_n), \qquad x_0 \in \Omega, \forall n = 0, 1, 2, \dots$$

where $G: \Omega \subset B_1 \to B_2$ is a Fréchet differentiable and continuous non-linear operator, B_1 and B_2 are Banach spaces and $\Omega \neq \phi$ is a convex and open set. Let x^* represent a root of the equation (1) which is locally unique.

The local convergence of method (2) was established assuming that the seventh derivative (at least) of the operator G exists. As a consequence, productivity of this method is limited. To see this, we define G on $\Omega = [-0.5, 1.5]$ by

(3)
$$G(t) = \begin{cases} t^3 \ln(t^2) + t^5 - t^4, & \text{if } t \neq 0 \\ 0, & \text{if } t = 0 \end{cases}$$

Now, it is easy to find that due to the unboundedness of G''' the results on convergence of (2) does not hold for this example. Also, previous research articles do not produce any formula for approximating the error $||x_n - x^*||$, the convergence region or the uniqueness and accurate location of the root x^* . This is the major motivation for developing the ball convergence theorems by considering assumptions only on G'. Our research provides important formulas for the estimation of $||x_n - x^*||$ and convergence radii. This study also discusses about an exact location and the uniqueness of x^* .

The other contents of this material can be summarized as follows: Section 2 discusses the development of majorizing sequence for the method (2). Section 3 discusses the semi-local convergence properties of the presented method (2). Numerical testing of convergence outcomes are placed in Section 4. Concluding remarks are also stated.

2. MAJORIZING SEQUENCE

A scalar sequence is introduced in this section that is shown to be majorizing for the method (2) in Section 3. Let $M = [0, +\infty)$. Suppose: There exists a function $\phi_0: M \to \mathbb{R}$ which is continuous and non-decreasing such that the equation

$$\phi_0(t) - 1 = 0$$

has a smallest positive solution. Denote such a solution by α . Set $M_0 = [0, \alpha]$. Let $\phi : M_0 \to \mathbb{R}$ be a continuous and non-decreasing function. Let $d \ge 0$ denote a given parameter.

Define the scalar sequences $\{t_n\}$, $\{s_n\}$ and $\{v_n\}$ for each n = 0, 1, 2, ... by

$$t_{0} = 0, \quad s_{0} = d,$$

$$a_{n} = \int_{0}^{1} \phi(\lambda(s_{n} - t_{n}))d\lambda(s_{n} - t_{n}),$$

$$v_{n} = s_{n} + \frac{a_{n}}{1 - \phi_{0}(s_{n})},$$

$$(4) \qquad b_{n} = (1 + \int_{0}^{1} \phi_{0}(s_{n} + \lambda(v_{n} - s_{n}))d\lambda)(v_{n} - s_{n}) + a_{n},$$

$$t_{n+1} = v_{n} + \frac{b_{n}}{1 - \phi_{0}(s_{n})},$$

$$c_{n+1} = \int_{0}^{1} \phi(\lambda(t_{n+1} - t_{n}))d\lambda(t_{n+1} - t_{n}) + (1 + \phi_{0}(t_{n}))(t_{n+1} - s_{n})$$
and $s_{n+1} = t_{n+1} + \frac{c_{n+1}}{1 - \phi_{0}(t_{n+1})}.$

Next, we develop a general convergence result for the sequence $\{t_n\}$ given by the formula (4).

LEMMA 1. Suppose that for each n = 0, 1, 2, ... there exists a parameter $\delta > 0$ such that

(5)
$$\phi_0(s_n) < 1, \quad \phi_0(t_{n+1}) < 1 \quad and \ t_{n+1} \le \delta.$$

Then, the following assertions hold

(6)
$$0 \le t_n \le s_n \le v_n \le t_{n+1} \quad and \lim_{n \to \infty} t_n = t^* \le \delta.$$

Proof. The definition of the sequences $\{t_n\}$, $\{s_n\}$, $\{v_n\}$ and the condition (5) imply that the sequence $\{t_n\}$ is bounded above by λ and non-decreasing. Hence, it converges to its unique least upper bound t^* satisfying $t^* \in [0, \delta]$. \Box

REMARK 2. (i) If the function ϕ_0 is strictly increasing, then we can set $\delta = \phi_0^{-1}(1)$.

(ii) Another possible choice for δ is any number $\gamma_0 \in [0, \delta]$ or $\gamma_0 \in [0, \alpha)$.

3. CONVERGENCE ANALYSIS

The semi-local convergence analysis of the method (2) is developed in this section. For this, we need an auxiliary Ostrowski-type result for the method (2), which is stated below.

LEMMA 3. Suppose that the iterates $\{x_n\}$, $\{y_n\}$ and $\{z_n\}$ appearing in the method (2) exist for each n = 0, 1, 2, ... Then, the following assertions hold:

(7)
$$G(y_n) = p_n = \int_0^1 (G'(x_n + \lambda(y_n - x_n))d\lambda - G'(x_n))(y_n - x_n),$$

(8)
$$z_n - y_n = -G(y_n)^{-1}p_n,$$

(9)
$$q_n = \int_0^1 G'(y_n + \lambda(z_n - y_n)) d\lambda(z_n - y_n),$$

(10)
$$G(z_n) = q_n + p_n,$$

(11)
$$x_{n+1} - z_n = -G'(y_n)^{-1}(q_n + p_n),$$

(12)
$$G(x_{n+1}) = \delta_{n+1} = \int_0^1 (G'(x_n + \lambda(x_{n+1} - x_n)) - G'(x_n)) d\lambda(x_{n+1} - x_n)$$

(13)
$$+ G'(x_n)(x_{n+1} - y_n)$$
 and

(14) $y_{n+1} - x_{n+1} = -G'(x_{n+1})\delta_{n+1}.$

Proof. We can write by the second sub-step of the method (2) in turn that

$$G(y_n) = G(y_n) - G(x_n) - G'(x_n)(y_n - x_n)$$

= $\int_0^1 (G'(x_n + \lambda(y_n - x_n))d\lambda - G'(x_n))(y_n - x_n) = p_n$

showing (7) and consequently (8).

Moreover, by using (7), (9) and the following identity,

$$G(z_n) = G(z_n) - G(y_n) + G(y_n)$$

=
$$\int_0^1 G'(y_n + \lambda(z_n - y_n)) d\lambda(z_n - y_n) + G(y_n)$$

we obtain (10).

Hence, the identity (11) holds by the third sub-step of the method (2) and (10).

Furthermore, by the first sub-step of the method (2), we get (13) as follows: $G(x_{n+1}) =$

$$= G(x_{n+1}) - G(x_n) - G'(x_n)(y_n - x_n) - G'(x_n)(x_{n+1} - x_n) + G'(x_n)(x_{n+1} - x_n)$$

= $(G(x_{n+1}) - G(x_n) - G'(x_n)(x_{n+1} - x_n)) + G'(x_n)(x_{n+1} - y_n)$
= $\int_0^1 (G'(x_n + \lambda(x_{n+1} - x_n))d\lambda - G'(x_n))(x_{n+1} - x_n) + G'(x_n)(x_{n+1} - y_n)$
= δ_{n+1} .

Finally, the identity (14) follows from the first sub-step of the method (2) and (13).

The following conditions are required to prove the semi-local convergence analysis of the method (2). Further, these conditions that guarantee the existence of the iterates $\{x_n\}$, $\{y_n\}$ and $\{z_n\}$. Suppose:

4

- (H₁) There exists an element $x_0 \in \Omega$ and a parameter $d \ge 0$ such that $G'(x_0)^{-1} \in \mathscr{L}(B_2, B_1)$ and $\|G'(x_0)^{-1}G(x_0)\| \le d$.
- $(H_2) ||G'(x_0)^{-1}(G'(u) G'(x_0))|| \le \phi_0(||u x_0||) \text{ for each } u \in \Omega.$ Set $\Omega_0 = U(x_0, \alpha) \cap \Omega.$
- (H₃) $||G'(x_0)^{-1}(G'(u_2) G'(u_1))|| \le \phi(||u_2 u_1||)$ for each $u_1, u_2 \in \Omega_0$.
- (H_4) The conditions (5) hold and
- (H_5) $U[x_0, t^*] \subset \Omega$, where the parameter t^* is given in the Lemma 1.

Next, we state and prove the semi-local convergence result for method (2).

THEOREM 4. Suppose that the conditions $(H_1)-(H_5)$ hold. Then, the sequences $\{x_n\}, \{y_n\}, \{z_n\}$ generated by the method (2) are well-defined, remain in $U[x_0, t^*]$ and converge to a solution $x^* \in U[x_0, t^*]$ of the equation G(x) = 0. Moreover, the following assertions hold

- $||y_n x_n|| \le s_n t_n,$
- $(16) ||z_n y_n|| \le v_n s_n,$
- (17) $||x_{n+1} z_n|| \le t_{n+1} v_n \quad and$
- (18) $||x^* x_n|| \le t^* t_n.$

Proof. Mathematical induction on n is applied to first show that the iterates $\{x_k\}, \{y_k\}, \{z_k\}$ exist and the estimates (15)–(17) hold.

It follows by the condition (H_1) and the first sub-step of the method (2) for n = 0 that

$$||y_0 - x_0|| = ||G'(x_0)^{-1}G(x_0)|| \le d = s_0 - t_0 = s_0 < t^*,$$

so, the estimate (15) holds for n = 0. Let $w \in U(x_0, t^*)$. Then, by applying the condition (H_2) , we get in turn that

(19)
$$||G'(x_0)^{-1}(G'(w) - G'(x_0))|| \le \phi_0(||w - x_0||) \le \phi_0(t^*) < 1.$$

The estimate (19) together with the Banach lemma on linear operators that have inverses [12] imply that $G'(w) \in \mathscr{L}(B_2, B_1)$ and

(20)
$$||G'(w)^{-1}G'(x_0)|| \le \frac{1}{1-\phi_0(||w-x_0||)}.$$

In particular, for $w = y_0, G'(y_0)^{-1} \in \mathscr{L}(B_2, B_1)$. Consequently, the iterates z_0 and x_1 exist by the second and the third sub-step of the method (2). Then, by Lemma 1, (H_3) , (20) for $w = y_0$ and (4), we obtain in turn

$$\begin{aligned} \|z_k - y_k\| &\leq \|G'(y_k)^{-1}G'(x_0)\| \|G'(x_0)^{-1}G(y_k)\| \\ &\leq \frac{\int_0^1 \phi(\lambda \|y_k - x_k\|) d\lambda \|y_k - x_k\|}{1 - \phi_0(\|y_k - x_0\|)} \\ &\leq \frac{\int_0^1 \phi(\lambda(s_k - t_k)) d\lambda(s_k - t_k)}{1 - \phi_0(s_k)} = v_k - s_k \end{aligned}$$

$$\begin{split} \|z_{k} - x_{0}\| &\leq \|z_{k} - y_{k}\| + \|y_{k} - x_{0}\| \\ &\leq v_{k} - s_{k} + s_{k} - t_{0} = v_{k} \leq t^{*}, \\ \|x_{k+1} - z_{k}\| &\leq \|G'(y_{k})^{-1}G'(x_{0})\| \|G'(x_{0})^{-1}G(z_{k})\| \\ &\qquad \times \left(\frac{(1 + \int_{0}^{1}\phi_{0}(\|y_{k} - x_{0}\| + \lambda\|z_{k} - y_{k}\|)d\lambda)\|z_{k} - y_{k}\|}{1 - \phi_{0}(s_{k})} \\ &\qquad + \frac{\int_{0}^{1}\phi(\lambda\|y_{k} - x_{k}\|)d\lambda\|y_{k} - x_{k}\|}{1 - \phi_{0}(s_{k})}\right) \\ &\leq \frac{b_{k}}{1 - \phi_{0}(s_{k})}, \\ \|x_{k+1} - x_{0}\| &\leq \|x_{k+1} - y_{k}\| + \|y_{k} - x_{0}\| \\ &\leq t_{k+1} - s_{k} + s_{k} - t_{0} = t_{k+1} \leq t^{*}, \\ \|y_{k+1} - x_{k+1}\| &\leq \|G'(y_{k} + 1)^{-1}G'(x_{0})\|\|G'(x_{0})^{-1}G(x_{k+1})\| \\ &\leq \frac{c_{k+1}}{1 - \phi_{0}(t_{k+1})} = s_{k+1} - t_{k+1}, \\ \|y_{k+1} - x_{0}\| &\leq \|y_{k+1} - x_{k+1}\| + \|x_{k+1} - x_{0}\| \\ &\leq s_{k+1} - t_{k+1} + t_{k+1} - t_{0} = s_{k+1} \leq t^{*}, \end{split}$$

where we also used

$$\left\| \int_{0}^{1} G'(x_{0})^{-1} (G'(y_{k} + \lambda(z_{k} - y_{k})) d\lambda) \right\| =$$

= $\left\| G'(x_{0})^{-1} (G'(y_{k} + \lambda(z_{k} - y_{k})) d\lambda - G'(x_{0}) + G'(x_{0})) \right\|$
 $\leq 1 + \int_{0}^{1} \phi_{0} (\|y_{k} - x_{0}\| + \lambda \|z_{k} - y_{k}\|) d\lambda$
 $\leq 1 + \int_{0}^{1} \phi_{0} (s_{k} + \lambda(v_{k} - s_{k})) d\lambda$

and

$$\begin{aligned} \|G'(x_0)^{-1}G(x_{k+1})\| &\leq \left\| \|\int_0^1 G'(x_0)^{-1} (G'(x_k + \lambda(x_{k+1} - x_k))d\lambda \\ &- G'(x_k))(x_{k+1} - x_k) \right\| \\ &+ \|G'(x_0)^{-1} (G'(x_k) - G(x_0) + G'(x_0))(x_{k+1} - y_k)\| \\ &\leq \int_0^1 \phi(\lambda \|x_{k+1} - x_k\|) d\lambda \|x_{k+1} - x_k\| \\ &+ (1 + \phi_0(\|x_k - x_0\|)) \|x_{k+1} - y_k\| \\ &\leq \delta_{k+1}. \end{aligned}$$

Therefore, the assertions (15)–(17) hold and the iterates $\{x_k\}, \{y_k\}, \{z_k\} \in U[x_0, t^*]$. Moreover, it follows that the sequence $\{x_k\}$ is fundamental in a Banach space B_1 and as such it converges to some $x^* \in U[x_0, t^*]$.

By letting $k \to \infty$ in the estimate $||G'(x_0)^{-1}G(x_{k+1})|| \le \delta_{k+1}$ and using the continuity of G, we deduce that $G(x^*) = 0$. Let $m \ge 0$ be an integer. Then, we can write in turn that

$$||x_{n+m} - x_n|| \le ||x_{n+m} - x_{n+m-1}|| + ||x_{n+m-1} - x_n||$$

$$\le t_{n+m} - t_{n+m-1} + t_{n+m-1} - t_n$$

$$\le \dots \le t_{n+m} - t_n.$$

By letting $m \to \infty$ in the preceding estimate we show the assertion (18). \Box

Next, the uniqueness of the solution x^* in a certain region is determined.

PROPOSITION 5. Suppose:

- (i) There exists a solution Λ ∈ U(x₀, ρ) of the equation G(x) = 0 for some ρ > 0.
- (ii) The condition (H_2) holds on $U(x_0, \rho)$.
- (iii) There exists $R \ge \rho$ such that

$$\int_0^1 \phi_0((1-\lambda)\rho + \lambda R)d\lambda < 1.$$

Set $\Omega_1 = U[x_0, R] \cap \Omega$.

Then, the equation G(x) = 0 is uniquely solvable by Λ in the region Ω_1 .

Proof. Let $A = \int_0^1 G'(\Lambda + \lambda(\Lambda_1 - \Lambda)) d\lambda$ for some $\Lambda_1 \in \Omega_1$ with $G(\Lambda_1) = 0$. Then, in view of (*ii*) and (*iii*), we have in turn that

$$||G'(x_0)^{-1}(A - G'(x_0))|| \le \int_0^1 \phi_0((1 - \lambda) ||\Lambda - x_0|| + \lambda ||\Lambda_1 - x_0||) d\lambda$$

$$\le \int_0^1 \phi_0((1 - \lambda)\rho + \lambda\rho_1) d\lambda$$

$$< 1.$$

It follows that the linear operator A is invertible. Therefore, we can write

$$\Lambda_1 - \Lambda = A^{-1}(G(\Lambda_1) - G(\Lambda))$$

= $A^{-1}(0 - 0) = A^{-1}(0)$
= 0,

showing that $\Lambda_1 = \Lambda$.

REMARK 6. (1) The conditions $(H_1 - H_5)$ were not used in the Proposition 5. But if they were used, then we can set $\rho = t^*$.

(2) The limit point t^* in the condition (H_5) can be replaced by δ .

4. NUMERICAL EXAMPLES

EXAMPLE 7. We reconsider the motivational example from the introduction part of this work. Select $x_0 = 0.9955$. Conditions (H_1) - (H_3) are verified for

$$||G'(x_0)^{-1}G(x_0)|| = 0.00456182 = d,$$

 $\phi_0(t) = 12.8089t$, $\alpha = 0.0780704$, $\Omega_0 = U(x_0, \alpha) \cap \Omega$, $\phi(t) = 1.12091t$. Let $\delta = 0.06$. The conditions (5) are tested and the results are given in Table 1. Hence, we can observe that conditions (H_4) and (H_5) hold and therefore we

n	0	1	2	3
$\phi_0(s_n)$	0.0584319	0.0596158	0.0596159	0.0596159
$\phi_0(t_{n+1})$	0.0589276	0.0596158	0.0596159	0.0596159
t_{n+1}	0.00460052	0.00465425	0.00465426	0.00465426

 $t^* = 0.00465426.$

Table 1. Estimates for Example 7.

can conclude that the sequence $\{x_n\}$ generated by the method (2) converges to a solution x^* of the equation G(x) = 0 in $U[x_0, t^*]$.

EXAMPLE 8. The applicability of our work in the real world can be demonstrated by considering the quartic equation for fractional conversion which represents the fraction of the nitrogen-hydrogen feed that gets converted to ammonia. At $500^{\circ}C$ and 250atm, this equation can be formulated as

$$G(x) = x^4 - 7.79075x^3 + 14.7445x^2 + 2.511x - 1.674.$$

Let $\Omega = (0.3, 0.4)$ and $x_0 = 0.3$. Then, the conditions $(H_1) - (H_3)$ are valid if $\|G'(x_0)^{-1}G(x_0)\| = 0.0217956 = d$,

 $\phi_0(t) = \phi(t) = 1.56036t$, $\alpha = 0.640877$ and $\Omega_0 = U[x_0, \alpha] \cap \Omega$. Choose $\delta = 0.3$. Conditions (5) are tested and the outcomes are given in Table 2.

n	0	1	2	3
$\phi_0(s_n)$	0.034009	0.0384204	0.0384459	0.0384459
$\phi_0(t_{n+1})$	0.0358473	0.038431	0.0384459	0.0384459
t_{n+1}	0.0229737	0.0246296	0.0246391	0.0246391
		$t^* = 0.0246391.$		

Table 2. Estimates for Example 8.

Thus, we can observe that conditions (H_4) and (H_5) hold and therefore we can conclude that the sequence $\{x_n\}$ generated by the method (2) converges to a solution x^* of the equation G(x) = 0 in $U[x_0, t^*]$.

EXAMPLE 9. Define the cubic polynomial

$$G(x) = x^3 - a$$

on the open ball $\Omega = U(x_0, 1-a)$ for some $a \in [0, 1)$. If one chooses $x_0 = 1$, then the conditions (A_1) - (A_3) are verified for $d = \frac{1-a}{3}$, $\phi_0(t) = (3-a)t$, $\alpha = \delta = \frac{1}{3-a}$, $\Omega_0 = U(x_0, \frac{1}{3-a})$ and $\phi(t) = 2(1 + \frac{1}{3-a})t$. Let a = 0.95. Table 3 depicts the outcomes on testing of conditions (5).

	n	0	1	2	3
		0.0341667	0.0358153	0.0358166	0.0358166
t_{n+1} 0.0170052 0.0174711 0.0174715 0.0174715	$\phi_0(t_{n+1})$	0.0348607	0.0358158	0.0358166	0.0358166
	t_{n+1}	0.0170052	0.0174711	0.0174715	0.0174715

t^*	= (0.0	174'	715.
-------	-----	-----	------	------

Table 3. Estimates for Example 9.

Thus, we find that conditions (H_4) and (H_5) also hold and therefore we can conclude that the sequence $\{x_n\}$ generated by the method (2) converges to a solution x^* of the equation G(x) = 0 in $U[x_0, t^*]$.

EXAMPLE 10. Consider the non-linear system

$$G(w_1, w_2) = (w_1 + e^{w_2} - \cos w_2, 3w_1 - w_2 - \sin w_2)^T$$

defined on $\Omega = U(0,1)$ for $w = (w_1, w_2)^T$. We obtain the operator G' as follows

$$G'(w) = \begin{bmatrix} 1 & e^{w_2} + \sin w_2 \\ 3 & -1 - \cos w_2 \end{bmatrix}.$$

We find $x^* = (0,0)^T$ is a solution. Choose $x_0 = (0.1,0.1)^T$. Then, by applying method (2), we find that the above system converges to x^* and the error estimates are given Table 4.

$\ x_0-x^*\ $	$\ x_1 - x_*\ $	$\ x_2 - x_*\ $	$\ x_3-x_*\ $	$ x_4 - x_* $
0.100	$6.28455 * 10^{-3}$	$3.99276 * 10^{-10}$	$2.62582 * 10^{-53}$	$2.12431 * 10^{-312}$

Table 4. Error Estimates for Example 10.

EXAMPLE 11. Consider the 4×4 system of non-linear equations defined on the open ball $\Omega = U(0, 1)$ given by

$$v_i - \cos\left(2v_i - \sum_{i=1}^4 v_i\right) = 0, \quad i = 1, 2, 3, 4.$$

 $x^* = (0.5149, \ldots, 0.5149)^T$ is a solution. We choose the initial approximation as $x_0 = (0.5, \ldots, 0.5)^T$. Then, the method (2) is applied to this system and is found to be convergent to x^* and the error estimates obtained are given in Table 5.

$\ x_0-x^*\ $	$\ x_1-x_*\ $	$\ x_2 - x_*\ $	$\ x_3-x_*\ $	$\ x_4 - x_*\ $
0.01490	$1.21463 * 10^{-3}$	$3.87516 * 10^{-10}$	$4.08658 * 10^{-49}$	$5.62059 * 10^{-283}$

Table 5. Error Estimates for Example 11.

EXAMPLE 12. Let us solve the non-linear system of logarithmic type where for $w = (q_1, q_2, \ldots, q_m)^T$ and $Q(w) = \ln(q_i + 1) - \frac{q_i}{20}$, $i = 1, 2, \ldots, m$,

Q(w) = 0

Select m = 100 and $x_0 = (\frac{1}{2}, \frac{1}{2}, \dots, \frac{1}{2})^T$ (50 times). Then, by applying the method (2), the solution $x^* = (1, 1, \dots, 1)^T$ (50 times) is obtained after three iterations.

5. CONCLUSION

The semi-local convergence analysis for the method (2) is established by applying generalized Lipschitz condition only on the first derivative. Estimates on convergence balls, measurable error distances and the existence-uniqueness regions for the solution are deduced. At the end, the suggested theoretical outcomes are verified on numerical examples including one application problem. The major advantage is that the technique does not really depend on the method (2). Hence, it can be extended on other single and multi-step methods in the same manner.

REFERENCES

- H. A. ABRO AND M. M. SHAIKH, A new time-efficient and convergent nonlinear solver, Applied Mathematics and Computation, 355 (2019), pp. 516–536, https://doi.org/ 10.1016/j.amc.2019.03.012. ^[2].
- [2] C. I. ARGYROS, I. K. ARGYROS, S. REGMI, J. A. JOHN, AND J. JAYARAMAN, Semi-Local Convergence of a Seventh Order Method with One Parameter for Solving Non-Linear Equations, Foundations, 2 (2022), pp. 827–838, https://doi.org/10.3390/fo undations2040056. 2.
- [3] I. K. ARGYROS, Unified convergence criteria for iterative Banach space valued methods with applications, Mathematics, 9 (2021), p. 1942, https://doi.org/10.3390/math91 61942. ^I.
- [4] I. K. ARGYROS, The Theory and Applications of Iteration Methods, 2nd edition, CRC Press/Taylor and Francis Publishing Group Inc., Boca Raton, Florida, USA, 2022, http s://doi.org/10.1201/9781003128915. ∠.
- [5] I. K. ARGYROS, C. ARGYROS, J. CEBALLOS, AND D. GONZÁLEZ, Extended Comparative Study between Newton's and Steffensen-like Methods with Applications, Mathematics, 10 (2022), p. 2851, https://doi.org/10.3390/math10162851.
- [6] I. K. ARGYROS, D. SHARMA, C. I. ARGYROS, S. K. PARHI, AND S. K. SUNANDA, Extended iterative schemes based on decomposition for nonlinear models, Journal of Applied Mathematics and Computing, 68 (2022), pp. 1485–1504, https://doi.org/10 .1007/s12190-021-01570-5. ^[2].

- M. I. ARGYROS, I. K. ARGYROS, S. REGMI, AND S. GEORGE, Generalized Three-Step Numerical Methods for Solving Equations in Banach Spaces, Mathematics, 10 (2022), p. 2621, https://doi.org/10.3390/math10152621.
- [8] D. K. R. BABAJEE, On the Kung-Traub conjecture for iterative methods for solving quadratic equations, Algorithms, 9 (2015), p. 1, https://doi.org/10.3390/a9020030.
 C.
- [9] A. CORDERO, E. GÓMEZ, AND J. R. TORREGROSA, Efficient high-order iterative methods for solving nonlinear systems and their application on heat conduction problems, Complexity, 2017 (2017), https://doi.org/10.1155/2017/6457532. ^I.
- [10] D. HERCEG AND D. HERCEG, A family of methods for solving nonlinear equations, Applied Mathematics and Computation, 259 (2015), pp. 882-895, https://doi.org/ 10.1016/j.amc.2015.03.028. ^[2].
- [11] J. A. JOHN, J. JAYARAMAN, AND I. K. ARGYROS, Local Convergence of an Optimal Method of Order Four for Solving Non-Linear System, International Journal of Applied and Computational Mathematics, 8 (2022), pp. 1–8, https://doi.org/10.1007/s408 19-022-01404-3. ^C.
- [12] L. V. KANTOROVICH AND G. P. AKILOV, Functional Analysis in Normed Spaces, Pergamon Press, Oxford, 1964.
- H. KUNG AND J. F. TRAUB, Optimal order of one-point and multipoint iteration, Journal of the ACM (JACM), 21 (1974), pp. 643-651, https://doi.org/10.1145/321850.
 .321860. ^I.
- [14] T. LOTFI, P. BAKHTIARI, A. CORDERO, K. MAHDIANI, AND J. R. TORREGROSA, Some new efficient multipoint iterative methods for solving nonlinear systems of equations, International Journal of Computer Mathematics, 92 (2015), pp. 1921–1934, https: //doi.org/10.1080/00207160.2014.946412. ^[2].
- [15] K. MADHU, D. BABAJEE, AND J. JAYARAMAN, An improvement to double-step Newton method and its multi-step version for solving system of nonlinear equations and its applications, Numerical Algorithms, 74 (2017), pp. 593-607, https://doi.org/10.100 7/s11075-016-0163-2.
- [16] M. A. NOOR, K. I. NOOR, E. AL-SAID, AND M. WASEEM, Some new iterative methods for nonlinear equations, Mathematical Problems in Engineering, 2010 (2010), https: //doi.org/10.1155/2010/198943.
- [17] J. R. SHARMA, R. SHARMA, AND N. KALRA, A novel family of composite Newton-Traub methods for solving systems of nonlinear equations, Applied Mathematics and Computation, 269 (2015), pp. 520-535, https://doi.org/10.1016/j.amc.2015.07.09
 2. C.
- [18] M. WASEEM, M. A. NOOR, AND K. I. NOOR, Efficient method for solving a system of nonlinear equations, Applied Mathematics and Computation, 275 (2016), pp. 134–146, https://doi.org/10.1016/j.amc.2015.11.061. ^{II}.

Received by the editors: November 8, 2022; accepted: December 18, 2022; published online: December 31, 2022.